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101|R#A7 L 147 62 85| Kg |EE 1,944 432| 4,320 648
102|&JE 7= L 2,160 2,160| Kg S - BIE 3,305 648
111|&EEF £ 509 508| Kg |EE 162 S40 1,728 336
113|RAV S 10 4 Keg |EE 1,944 1,728| & 3,240 3,024
114|B5EFE 233 233|  Kg e 2,646 864
15[ 1= 1 1 Kg FfE 1,296
117[1E 170 21 149 Kg |£EE 1,944 =35 3,780 1,080
21| bl E 32 2 30| Kg |EE 270 K 2,160 649
134[#= = 577 357 220 Kg |=# 3,300 1,400| =4 3,240 1,620
137|&5ES. < 101 63 38| Kg |BE 3,780 3,024| &R 4,104 3,780
140(5 I 22 22| Kg FfE 140,400 31,500
147|EZ O 68 68| Kg BERE - £I5 [ 10,000 4,320
158|EIEA A LS 364 26 338| Kg |EIE 1,512 1,296 | F1E 2,106 1,296
201{Lvb L 1,077 1,077| Kg e 459 189
203|/hd L 136 136 Kg R 351 270
206| = 1F 485 485| Kg =5 1,512 482
207| = AE 700 700 Kg sl 4,066 1,026
208| Mo % 536 536| Kg L 1,404 540
210|1F ALy 136 136 Kg [wO 6,750 1,350
212|&FE3 Y 258 258 Kg E)I - B2 2,160 1,300
251|< B %<3 391 73 318 Kg |&#%& 3,035 KI5 4,158 4,050
254|E b ECH 820 820| Kg =] 1,998 972
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303[A 27z 171 171 Kg FE 864 504
305|xAah>0b 10 10| Kg =) 4,860 3,780
315|7: B9 6 27 27 Kg = 3,780 3,240
319|2h o 340 3401 Kg BE - RIF 2,700 216
332|= 13 WA =EF 282 282 Kg Bl = 2,592 1,728
351(4EH 15 151 Kg FEE 5,076 4,644
35411FxE<Y 126 126 Kg = 2,484 1,242
355(mp Y 105 105 Kg A - BE 1,404 600
356(L L& 65 65 Kg SER 1,512 972
357|7RE 12 12| Kg [ 1,260

362(m & 42 421 Kg IN= 2,520 936
401|H W 55 52| Kg |IH& 2,160 A0 2,592 2,160
4025 E 15 15| Kg FAN 5,778 5,670
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AEEH AT WD 26 26 Kg [E2p] 1,208
aO—JLuLvh 10 10 Kg HE 702
AR 314 314 Kg JbiF 1,450 1,188
AERBAT AW 1,004 1,004 Kg [E2D3] 4,536 810
ARUCEZY 97 97 Kg [E2p] 1,944 1,256
L A AR 170 170 Kg F 900 450
~ER 179 179 Kg JbiF 1,296 756
AT 621 621 Kg [E2D3] 2,680 1,030
AR 40 40 Kg JbiF 3,000 2,500
BRI 90 90 Kg s - dbF 1,836 1,080
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70110 BA 5,425 3,310 2,115 Kg |EE 3,564 2,550| & 3,240 1,566
71019 2 ®HA0F 71 71 Kg =N 1,375 540
BlBEFALANIN 85 85 Kg |&x&E 1,242 961
755(Fd L 49 491 Kg RIF 972 710
56| £ 9 11 11 Kg 3 1,588 1,466
7611 b BHAEL 12 12 Kg & 2,893
801 [3BAT = 1S 156 156] Kg FE-mA 1,728 1,134
8051 1E 1,295 1,295 Kg JbiF 1,037 562
810|FAKF 161 161 Kg bF 3,132 1,350
8lh|—W T AX 117 117 Kg blo ] 1,512 918
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